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M.Com. DEGREE EXAMINATION, MAY - 2017 

(Second Year) 

International Business 

Time : 3 Hours  Maximum Marks : 70  

SECTION - A 

 (4× 5 = 20) 

 Q1) Answer Four of the following: 

  a) Free trade 

 E_™èþ Ð@þÆæÿ¢Mæü… 

  b) Nature of International business 

 A…™èþÆ>j¡Ä¶ý$ ÐéÅ´ëÆæÿ çÜÓ¿êÐ@þ… 

  c) WTO 

 WTO 
  d) Strategic  planning 

 Ð@þNÅà™èþÃMæü {ç³×êãMîüMæüÆæÿ×ý 

  e) Regional trade  

 {́ ë…¡Ä¶ý$ Ð@þÆæÿ¢Mæü… 

  f) MNEs 

 MNEË$ 

  g) Terms of trade 

 Ð@þÆæÿ¢Mæü °º…«§æþ¯@þË$ 

  h) Host countries  

 B†£æþÅ §óþÔ>Ë$ 

SECTION – B 

Answer any Two of the following 

(2× 10 = 20) 

Q2) Define international business. Explain its process. 

A…™èþÆ>j¡Ä¶ý$ ÐéÅ´ëÆ>°² °ÆæÿÓ_…_, §é° {ç³“MìüÄ¶ý$¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q3) Write about various strategies of MNCs. 

MNCË Äñý¬MæüP ÑÑ«§æþ Ð@þNÅàË¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 



  

 Q4) Discuss about controlling mechanism of international trade.  
      

  A…™èþÆ>j¡Ä¶ý$ Ð@þÆæÿ¢Mæü… Äñý¬MæüP °Ä¶ý$…{™èþ×ê Ñ«§é¯é°² Væü*Ça ^èþÇa…ç³#Ð@þ¬. 

 

Q5) Briefly explain the factors influencing the culture of MNCs  

MNCË çÜ…çÜP –†° {ç³¿êÑ™èþ… ^óþõÜ ÑÑ«§æþ M>ÆæÿM>Ë¯@þ$ Væü*Ça Mæü$Ïç³¢…V> ÑÐ@þÇ…ç³#Ð@þ¬. 

 

SECTION – C 

Answer any Two of the following 

 (2× 15 = 30) 

 Q6) Write a note on multilateral trade agreements. 

  ºçßý$´ë„ìüMæü Ð@þÆæÿ¢Mæü Jç³µ…§éËOò³ ÐéÅÝë°² {ÐéÄ¶ý¬Ð@þ¬. 

 

Q7) Examine the importance of negotiations in international business.  

 A…™èþÆ>j¡Ä¶ý$ Ð@þÆæÿ¢Mæü…ÌZ çÜ…{ç³¨…ç³#Ë {́ ë«§é¯@þÅ™èþ¯@þ$ ÑÔ¶ý©MæüÇ…ç³#Ð@þ¬ 

 

Q8) Outline the influencing factors of international production. 

A…™èþÆ>j¡Ä¶ý$ E™èþµ†¢ Äñý¬MæüP {ç³¿êÑ™èþ M>ÆæÿM>Ë¯@þ$ õ³ÆöP¯@þ$Ð@þ¬. 

 

 Q9) Discuss about structure of strategic management at international level.   

 A…™èþÆ>j¡Ä¶ý$ Ýë¦Æÿ¬ÌZ Ð@þNÅà™èþÃMæü °ÆæÿÓçßý×ê °ÇÃ†° Væü*Ça ^èþÇa…ç³#Ð@þ¬. 
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M.Com. DEGREE EXAMINATION, MAY - 2017 
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   SECTION - A (4 x 5 = 20) 

Answer any four of the following 

Q1) a) IRM. 

  IRM. 

 b) System analysis. 

  íÜçÜtÐŒþ$ ÑÔóýÏçÙ×ý. 

 c) DBMS. 

  DBMS. 

 d) Files. 

  OòœÌŒýÞ. 

 e) High level language. 

  Oò³ Ýë¦Æÿ¬ Ìê…VóüÓi. 

 f) System software. 

  íÜçÜtÐŒþ$ Ýë‹œtÐóþÆŠÿ. 

 g) MIS. 

  MIS. 

 h) Data processing. 

  yóþsê {́ ëòÜíÜ…VŠü. 



       

   SECTION – B (2 x 10 = 20) 

Answer any two of the following 

  

Q2) Bringout the importance of Query language. 
 MæüÓÈ Ìê…VóüÓi Äñý¬MæüP {́ ë«§é¯@þÅ™èþ¯@þ$ õ³ÆöP @̄þ$Ð@þ¬. 
 

Q3) Describe the phases in system designing. 
 íÜçÜtÐŒþ$ yìþOgñý°…VŠüÌZ §æþÔ¶ýË¯@þ$ Ð@þÇ~…ç³#Ð@þ¬. 
 
Q4) Write about problems in implementation of projects. 
 {́ ëgñýMæü$tË AÐ@þ$Ë$ {ç³“MìüÄ¶ý$ÌZ VæüË çÜÐ@þ$çÜÅË¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 
 

Q5) What are the various hardware and software peripherals? 
 ÑÑ«§æþ àÆŠÿzÐóþÆŠÿ Ð@þ$ÇÄ¶ý¬ Ýë‹œtÐóþÆŠÿ ç³ÇMæüÆ>ÌôýÑ? 
 

   SECTION – C (2 x 15 = 30) 

Answer any two of the following 

 

Q6) Examine the recent trends in IT. 

 IT ÌZ B«§æþ$°Mæü ´ùMæüyæþË¯@þ$ ÑÔ¶ý©MæüÇ…ç³#Ð@þ¬. 
 
Q7) Give an overview on Computer networks. 
 Mæü…ç³NÅrÆŠÿ ¯ðþsŒýÐ@þÆŠÿPË¯@þ$ Væü*Ça Ñç³#ÎMæüÇ…ç³#Ð@þ¬. 
 
Q8) Discuss about Data Resource Management. 
 yóþsê ÇÝùÆŠÿÞ Ðóþ$¯óþgŒýÐðþ$…sŒý¯@þ$ Væü*Ça ^èþÇa…ç³#Ð@þ¬. 

 

Q9) List out the features of RDBMS. 
 RDBMS Äñý¬MæüP Ë„æü×êË¯@þ$ õ³ÆöP¯@þ$Ð@þ¬. 

 

��� 
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M.Com. DEGREE EXAMINATION, MAY - 2017 

(Second Year) 

A - ACCOUNTING 

Accounting : Advanced Financial Accounting 

Time : 3 Hours  Maximum Marks : 70  

SECTION - A 

Answer any four of the following 

(4× 5 = 20) 

 Q1) a) Role of financial Advisor 

 Ñ™èþ¢çÜËà§éÆæÿ$ ´ë{™èþ 

  b) Financial statements 

 Ñ™èþ¢ °Ðóþ¨MæüË$ 

  c) Fundamental analysis 

 {́ ë««£æþÑ$Mæü ÑÔóýÏçÙ×ý 

  d) Yield method 

 Æ>ºyìþ ç³§æþª† 

  e) Dividend  

 yìþÑyðþ…yŠþ 

  f) Published Accounts 

 Ð@þ¬{̈ ™èþ AMú…sŒýÞ 

  g) Cost of control of Good will 

 Væü$yŠþÑÌŒý Äñý¬MæüP Ð@þÅÄ¶ý$ °Ä¶ý$…{™èþ×ý 

  h) Legal provisions  

 ¯éÅÄ¶ý*™èþÃMæü HÆ>µr$Ï 



SECTION – B 

Answer any Two of the following 

(2× 10 = 20) 

Q2) Define financial accounting. Enumerate its objectives and scope. 

Ñ™èþ¢ AMú…sìý…VŠü¯@þ$ °ÆæÿÓ_…_, §é° Äñý¬MæüP «§óþÅÄ¶ý*Ë$ Ð@þ$ÇÄ¶ý¬ ç³Ç«̈ ¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q3) Define share valuation. Explain its need, impact of earnings and growth on share 

valuation. 

Ðésê Ð@þ$¨…ç³# ¯@þ$ °ÆæÿÓ_…_, §é° BÐ@þÔ¶ýÅMæü™èþ, BÆæÿj̄ @þËOò³ {ç³¿êÐ@þÐ@þ¬ Ð@þ$ÇÄ¶ý¬ Ðésê Ð@þ$¨…ç³# AÀÐ@þ–
ª̈ 

Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 

  

 Q4) The following are the balance sheets of X-Ltd. and Y-Ltd. as on 31-12-2016. Prepare a 

consolidated Balance sheet as on 31-12-2016. 

     Balance Sheet 

  Liabilities X-Ltd. (�) Y-Ltd.(�) Assets X-Ltd.(�) Y-Ltd.(�)  

  Share Capital  6,00,000 1,50,000 Fixed Assets 5,85,000  2,10,000 

  (Shares of ��20) 

  General Reserve  1,50,000 60,000 Shares in Y-Ltd. 1,80,000        - 

  Profit & loss 

  A/c  (2016)  90,000 22,500 Debtors 1,05,000   75,000 

  Profits for     

  the year (2016)  1,50,000 60,000 Other current 1,80,000   37,500 

      Assets 

Creditors     60,000 30,000  

  10,50,000 3,22,500  10,50,000   3,22,500  

  Note : a) X-Ltd. purchased on 01-07-2016 ; 12,000 shares in Y-Ltd. at �� 45 each. 

   b) Stock in Y-Ltd. includes � 22,500 worth of goods purchased from X-Ltd. 

which company sales goods at 25% above cost. 

   c) Creditors of Y-Ltd. include �.15,000 due to X-Ltd.  



      

  ™óþ¨ 31&12&2016  ¯ésìý X-ÍÑ$sñýyŠþ Ð@þ$ÇÄ¶ý¬ Y-ÍÑ$sñýyŠþ ÐéÇ BíÜ¢&Aç³šË ç³sîýtË$ “Mìü…¨ Ñ«§æþ…V> 

E¯é²Æÿ¬. 31&12&2016 ¯ésìýMìü HMîüMæü–™èþ BíÜ¢&Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. 

Aç³šË$  X- ÍÑ$sñýyŠþ Y- ÍÑ$sñýyŠþ BçÜ$¢Ë$ X- ÍÑ$sñýyŠþ Y-ÍÑ$sñýyŠþ  

    Ææÿ*|| Ææÿ*||      Ææÿ*||                            Ææÿ*|| 

  Ðésê Ð@þÊË«§æþ¯@þÐ@þ¬  6,00,000 1,50,000 íÜ®Æ>çÜ$¢Ë$ 5,85,000   2,10,000 

  (@ÐésêË$ 20/- -- ----) 

  Ýë«§éÆæÿ×ý °«̈   1,50,000 60,000 Y-Ltd. ÌZ ÐésêË$ 1,80,000        - 

  Ìê¿¶ý&¯@þÚëtË Rê™é  90,000 22,500 º¬×ý“VæüçÜ$¢Ë$ 1,05,000   75,000 

  (2016)      

  Ìê¿êË$ (2016)  1,50,000 60,000 C™èþÆæÿ {ç³çÜ$¢™èþ  1,80,000   37,500 

      BçÜ$¢Ë$ 

º¬×ý§é™èþË$     60,000 30,000  

  10,50,000 3,22,500  10,50,000   3,22,500  

VæüÐ@þ$°Mæü:a) ™óþ¨ 01&07&2016 ¯@þ X-Ltd. ÐéÆæÿ$ Y-Ltd. ÐéÇ 12,000 ÐésêË¯@þ$, Ðésê @45/- - 
^öç³š¯@þ Mö¯@þ$VøË$ ^óþÔ>Ææÿ$. 

  b) Y-Ltd. ÝëtMæü$ÌZ Ææÿ*|| 22,500/- ÑË$Ð@þ VæüË çÜÆæÿ$Mæü$ X-Ltd. ¯@þ$…_ Mö¯@þ$VøË$ ^óþíÜ¯@þ¨. 
E¯@þ²̈  AÐ@þ$ÃMæüÐ@þ¬ Ò$§æþ 25% Ìê¿¶ýÐ@þ¬ çÜ…´ë¨… è̂þ$^èþ$¯@þ²¨. 

  c) X-Ltd. º¬×ý§é™èþËÌZ Ææÿ*||  15,000 Ë$ Y-Ltd. @̄þ$…yìþ Æ>Ð@þËíÜ E…¨. 

 

Q5) From the following calculate the value of goodwill at 3 years purchase of super profits. 

a) Return expected on capital invested 16%. 

b) Remuneration for partners services �� 24,000 p.a. 

c) Total Assets of the firm �� 10,00,000 ; current liabilities �. 1,50,000. 

d) Profits for the past 3 years �� 1.50,000 ; � 1,25,000 ; � 1,75,000. 

e) Average capital employed in business � 25,00,000.  

 



 

¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ A™èþÅ«̈ Mæü Ìê¿êË$ Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>Ë Mö¯@þ$VøË$ B«§éÆæÿ…V>  Væü$yŠþÑÌŒý 

Ð@þÊÌêÅ…Mæü×ý ^óþÄ¶ý$…yìþ. 

a) Ð@þÊË«§æþ¯@þ ò³r$tºyìþ Oò³ 16% Æ>ºyìþ Fíßý…^èþyæþOÐðþ$¯@þ¨. 
b) ¿êVæüçÜ$¢Ë õÜÐ@þËMæü$V>¯@þ$ ^ðþÍÏ… ó̂þ ´ëÇ™øçÙMæüÐ@þ¬ Ææÿ*|| 24,000 (çÜ…Ð@þ™èþÞÆ>°Mìü) 
c) çÜ…çÜ® Ððþ¬™èþ¢… BçÜ$¢Ë$ Ææÿ*. 10,00,000Ë$ {ç³çÜ$¢™èþ Aç³šË$ Ææÿ* ||1,50,000 Ë$ 
d) Væü™èþ Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>Ë Ìê¿êË$ Ð@þÆæÿ$çÜV>, Ææÿ*|| 1,50,000; Ææÿ*|| 1,25,000; Ææÿ*|| 1,75,000. 
e) ÐéÅ´ëÆæÿ…ÌZ E¯@þ² çÜVæür$ Ð@þÊË«§æþ¯@þÐ@þ¬ Ææÿ*|| 25,00,000. 

 

SECTION – C 

Answer any Two of the following 

 (2× 15 = 30) 

 Q6) Using the following data, complete the balance sheet given below : 

     Gross profit    �� 1,08,000 

     Equity capital    �� 12,00,000 

    GP Margin 40% 

     Credit sales to total sales 90% 

    Total Assets Turnover 0.6 times 

    Inventory Turnover 8 times 

    Average collection period 60 days (360 days) 

    Current Ratio 1.75 

    Long term debt to equity 80% 

 

      

                            Balance Sheet 

    Liabilities ���) Assets ����

Creditors ××××  Cash  ×××× 

    Long term debt ××××  Debtors  ×××× 

    Shareholders equity ××××  Inventory ×××× 

     ××××     ×××× 

   



  

 

  D “Mìü…¨ CÐ@þÓºyìþ¯@þ çÜÐ@þ*^éÆæÿÐ@þ¬™ø BíÜ¢&Aç³šË ç³sîý t° ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬Ð@þ¬. 

 çÜ*¦Ë Ìê¿¶ýÐ@þ¬  �� 1,08,000 

 DMìüÓsîý Ð@þÊË¿¶ý¯@þÐ@þ¬  �� 12,00,000 

 çÜ*¦Ë Ìê¿¶ýÐ@þ¬ Ô>™èþÐ@þ¬       40% 

 Ððþ¬™èþ¢… AÐ@þ$ÃM>ËÌZ AÆæÿ$Ð@þ# AÐ@þ$ÃM>Ë$       90% 
 Ððþ¬™èþ¢… BçÜ$¢Ë rÆø²Ð@þÆŠÿ       0.6 Æðÿr$Ï  
 çÜÆæÿ$Mæü$ rÆø²Ð@þÆŠÿ       8 Æðÿr$Ï 
 çÜVæür$ Ð@þçÜ*Ë$ M>ËÐ@þ¬       60 ÆøkË$ (360 ÆøkË$) 
 {ç³çÜ$¢™èþ °çÙµ†¢        1.75  

 ©ÆæÿƒM>ÍMæü Aç³š/DMìüÓsîý      80% 

                             BíÜ¢&Aç³šË ç³sîýt 
   Aç³šË$ Ææÿ*|| BçÜ$¢Ë$ Ææÿ*||

º¬×ý§é™èþË$ ××××  ¯@þVæü§æþ$    ×××× 

   «©ÆæÿƒM>ÍMæü Aç³š ××××  º¬×ý“VæüçÜ$¢Ë$   ×××× 

   Ðésê§éÆæÿ$Ë$ ò³r$tºyìþ ××××  çÜÆæÿ$Mæü$íÜ¦Ææÿ BçÜ$¦Ë$  ×××× 

     ××××       ×××× 

 

Q7) From the following information, find the value of shares by  

a) Net Asset method 

b) Yield method 

 

Balance Sheet 

  Liabilities �� Assets      ��

16,000 shares of 

  �� 10 each  1,60,000 Goodwill     10,000 

  Reserve fund  10,000 Fixed assets  1,00,000 

  Profit & loss A/c  10,000 Current Assets  1,30,000 

  6% Debentures  20,000 

  Creditors  25,000 

Provision for tax  15,000 

   2,40,000   2,40,000 



  On 31-12-2016 fixed assets were valued  at �� 1,80,000 good will at �� 10,000. The net 

profits for the last 3 years were �� 10,000 ; � 12,000 ; �� 13,000. It is general practice to 

transfer 10% to general reserve. The normal rate of return is 10%.    

  

 D ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë™ø   

 a) °MæüÆæÿ BççÜ$¢Ë ç³§æþ®† ;  

 b) Æ>ºyìþ ç³§æþ®† §éÓÆ> ÐésêË ÑË$Ð@þ¯@þ$ Mæü¯@þ$Vö¯@þ…yìþ. 

    BíÜ¦&Aç³šË ç³sîýt 

Aç³šË$          Ææÿ*||   BçÜ$¢Ë$   Ææÿ*||  

16,000 ÐésêË$ @ Ðésê 10/- ---- -  1,60,000 Væü$yŠþÑÌŒý     10,000 

ÇfÆæÿ$Ó °«̈    10,000 íÜ¦Æ>çÜ$¦Ë$  1,00,000  

Ìê¿¶ý&¯@þÚëtË Rê™é   10,000 {ç³çÜ$¢™èþ BçÜ$¢Ë$  1,30,000 

6% yìþ»ñý…^èþÆæÿ$Ï      20,000 

º¬×ý §é™èþË$      25,000 

ç³¯@þ$²MöÆæÿMæü$ HÆ>µr$      15,000 

     2,40,000   2,40,000 

™óþ¨: 31&12&2016 @̄þ íÜ¦Æ>çÜ$¢Ë¯@þ$ Ææÿ*|| 1,80,000ËMæü$ Ð@þ$ÇÄ¶ý¬ Væü$yŠþÑÌŒý Ææÿ*|| 10,000ËMæü$ ÑË$Ð@þ 

Mæüsìýt̄ éÆæÿ$. “Mìü…§æþsìý 3 çÜ…Ð@þ™èþÞÆæÿÐ@þ¬Ë °MæüÆæÿ Ìê¿¶ýÐ@þ¬Ë$ Ææÿ*|| 10,000, Ææÿ*|| 12,000; Ææÿ*|| 13,000. 

Ýë«§éÆæÿ×ý °«̈ Mìü 10% ¯@þ$ º¨Î ^óþÄ¶ý¬§æþ$Ææÿ$. Ýë«§éÆæÿ×ý Æ>ºyìþ Æóÿr$ 10%. 

 

Q8) Explain the types of financial reporting. 

Ñ™èþ¢ °Ðóþ¨MæüË ÆæÿM>Ë¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

Q9) Explain about the following: 
a) Inflation adjusted statements. 

b) Human Resource Accounts 

c) Solid Balance sheet.   



“Mìü…¨ Ðésìý° Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬ 
a) çÜÆæÿ$®»êr$ {§æþÐøÅË¾×ý °Ðóþ¨MæüË$ 
b) Ð@þ*¯@þÐ@þ Ð@þ¯@þÆæÿ$Ë AMú…sŒýÞ 
c) Ýë…íœ$Mæü BíÜ¢&Aç³šË ç³sîýt 

���� 
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M.Com. DEGREE EXAMINATION, MAY - 2017 
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A - ACCOUNTING 

Advanced Cost and Management Accounting 

Time : 3 Hours  Maximum Marks : 70  

SECTION - A 

   Answer any four of the following  (4× 5 = 20)  

 Q1) a) Objects of Cost Accounting 

 Ð@þÅÄ¶ý$ AMú…sìý…VŠü «§óþÅÄ¶ý*Ë$ 

  b) Limitations of Cost Accounting 

 M>‹Üt AMú…sìý…VŠü ç³ÇÑ$™èþ$Ë$ 

  c) Absorption Costing  

 çÜ…Î¯@þ Ð@þÅÄ¶ý*…MæüÐ@þ¬. 

  d) Joint product 

 EÐ@þ$Ãyìþ Ð@þçÜ$¢Ð@þ# 

  e) Materials cost variance  

 ç³§éÆæÿ® Ð@þÅÄ¶ý$ Ñ è̂þÆæÿ×ýÐ@þ¬. 

  f) Objects of L.C.A 

 L.C.A Ë„> ÅË$ 

  g) Special report 

 {ç³™óþÅMæü °Ðóþ¨Mæü 

  h) Cost ledger 

 Ð@þÅÄ¶ý$ BÐ@þÆ>j 



 

SECTION – B 

   Answer any two of the following  (2 × 10 = 20) 

Q2) State the role of cost accounting. 

Ð@þÅÄ¶ý$ AMú…sìý…VŠü ´ë{™èþ¯@þ$ ™ðþË$ç³#Ð@þ¬. 

 

Q3) Describe the steps involved in installation of a Cost Accounting system. 

M>‹Üt AMú…sìý…VŠü ç³§æþ®†° {ç³ÐóþÔ¶ý ò³rtyæþ…ÌZ VæüË §æþÔ¶ýË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q4) In a Factory there are 3 production departments A,B,C and two service departments     

X and Y. The following are overheads allocated to various departments. 

     Product Dept:      Rs. 

      A    15,000 

      B    27,000 

      C    19,000 

     Service Dept:  

       X    3,000 

      Y    5,000 

  The expenses of service department allocated in the following percentages 

     Departments   A B C X Y 

    X    45% 15% 30% - 10% 

    Y    60% 35% - 5% -  

  Allocate the expenses of service departments to production departmentation  repeated 

distribution.  

  

 



JMæü E™éµ§æþMæü çÜ…çÜ¦ÌZ A,B,C A¯@þ$ Ð@þÊyæþ$ E™èþµ†¢ yìþ´ëÆæÿ$tÐðþ$…r$Ï, X, Y A¯@þ$ Æðÿ…yæþ$ õÜÐé yìþ´ëÆæÿ$tÐðþ$…r$Ï 

E¯é²Æÿ¬. B yìþ´ëÆæÿ$tÐðþ$…r$ËMæü$ MóüsêÆÿ¬… è̂þºyìþ¯@þ KÐ@þÆŠÿ òßýyŠþÞ “Mìü…§æþ Ñ«§æþÐ@þ¬V> E¯é²Æÿ¬. 

     E™èþµ†¢ yìþ´ëÆæÿ$t Ððþ$…r$Ï      Ææÿ*. 

      A    15,000 

      B    27,000 

      C    19,000 

     õÜÐé yìþ´ëÆæÿ$t Ððþ$…r$Ï  

       X    3,000 

      Y    5,000 

  {ç³† õÜÐé yìþ´ëÆæÿ$t Ððþ$…r$Ï QÆæÿ$aË ç³…í³×îý Ô>™èþÐ@þ¬Ë$ “Mìü…§æþ CÐ@þÓºyìþ @̄þÑ 

     yìþ´ëÆæÿ$t Ððþ$…r$Ï   A B C X Y 

    X    45% 15% 30% - 10% 

    Y    60% 35% - 5% - 

  Gyæþ ™ðþVæüMæü ç³…í³×îý ç³§æþ®† Oò³ õÜÐé yìþ´ëÆæÿ$t Ððþ$…r$Ï, QÆæÿ$aË$ E™èþµ†¢ yìþ´ëÆæÿ$t Ððþ$…r$ËMæü$ ç³…í³×îý 
ó̂þÄ¶ý¬Ð@þ¬. 

 

Q5) A company manufactures a product which involves two processes viz. pressing and 

polishing. For the month of September, the following information is available.  

     Pressing   Polishing 

  Opening Stock - - 

  Input of units in Process 1,200 1,000 

  Units Completed 1,000 500 

  Units under process 200 500 

  Material Cost (Rs.) 96,000 8,800 

  Conversion Cost (Rs.) 2,88,000 52,000 

   For incomplete units, in process, charge material costs at 100% and conversion costs at 

60% in the pressing process and 50% in the polishing process. Prepare a statement of 

cost and calculate the selling prise per unit which will result in 25% on the sales price.   



JMæü Mæü…ò³± E™èþµ†¢ ^óþõÜ Ð@þçÜ$¢Ð@þ#Mæü$ {ò³íÜÞ…VŠü Ð@þ$ÇÄ¶ý¬ ´ëÍíÙ…VŠü A¯óþ Æðÿ…yæþ$ {́ ëòÜ‹ÜË$ E¯é²Æÿ¬. òÜò³t…ºÆæÿ$ 

Ð@þ*Ýë°Mìü ¨Væü$Ð@þ çÜÐ@þ*^éÆæÿÐ@þ¬ CÐ@þÓºyìþ…¨. 

    {ò³íÜÞ…VŠü   ´ëÍíÙ…VŠü 

  {́ ëÆæÿ…¿¶ýç³# çÜÆæÿ$Mæü$ - - 

  {́ ëòÜ‹ÜÌZ {ç³ÐóþÔ¶ýò³sìý t̄ @þ Ä¶ýÊ°r$Ï 1,200 1,000 

  ç³NÇ¢ M>ºyìþ¯@þ Ä¶ýÊ°r$Ï 1,000 500 

  ç³NÇ¢M>° ç³°ÌZ E¯@þ² Ä¶ýÊ°r$Ï 200 500 

  Ððþ$sîýÇÄ¶ý$ÌŒý Ð@þÅÄ¶ý$… (Ææÿ*.) 96,000 8,800 

  Ð@þ*Çµyìþ Ð@þÅÄ¶ý$… (Ææÿ*.) 2,88,000 52,000 

  {́ ëòÜ‹ÜÌZ E¯@þ² AçÜ…ç³NÆæÿ~ Ä¶ýÊ°r$ÏMæü$, {ò³íÜÞ…Væü$ {́ ëòÜ‹ÜÌZ Ððþ$sîýÇÄ¶ý$ÌŒý Ð@þÅÄ¶ý$… 100 Ô>™èþ…, Ð@þ*Çµyìþ 
Ð@þÅÄ¶ý$… 60 Ô>™èþ… ^öç³š¯@þ ´ëÍíÙ…VŠü {́ ëòÜ‹ÜÌZ Ð@þ*Çµyìþ Ð@þÅÄ¶ý$… 50 Ô>™èþ… ^öç³š¯@þ Ñ«̈ …^éÍ, 
AÐ@þ$ÃMæü… «§æþÆæÿ Ò$§æþ 25 Ô>™èþ… Ìê¿¶ý… Ð@þ ó̂þarr$Ï, Ð@þÅÄ¶ý$ ç³sìýtM æü¯@þ$ Ä¶ýÊ°sŒý JMìüP…sìýMìü AÐ@þ$ÃMæüç³# «§æþÆæÿ ÌñýMæüP 
è̂þ*õ³ JMæü °Ðóþ¨Mæü¯@þ$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

SECTION – C 

   Answer any Two of the following   (2 × 15 = 30)  

 Q6) Draw up a flexible budget for overhead expenses on the basis of the following data and 

determine the overhead rates at 70%, 80% and 90% plant capacity. 

     At. 70%  At. 80%  At. 90% 

     Capacity  Capacity  Capacity 

  Variable overheads: 

  Indirect labour - 12,000 - 

  Store including spares -  4,000 - 

  Semi variable overheads:   

  Power 60% fixed, 40% variable - 20,000 - 

  Repairs and maintenance  

  60% fixed, 40% variable - 2,000 - 

  Fixed overheads : 

  Depreciation - 11,000 - 

  Insurance - 3,000 - 

  Salaries - 10,000 - 

  Total overheads  62,000  

  Estimated direct lobour hours  1,24,000  



  “Mìü…¨ C_ā @þ çÜÐ@þ*^éÆæÿ… B«§éÆæÿ…V> ^èþÆæÿ ºyðþjsŒý ™èþÄ¶ý*Ææÿ$ ó̂þíÜ, 70%, 80% Ð@þ$ÇÄ¶ý¬ 90% ´ëÏ…r$ 

  Ýë¦Æÿ¬Ë Ð@þ§æþª KÐ@þÆŠÿ òßýyŠþ Æóÿr$¯@þ$ ÌñýMìüP…^èþ…yìþ. 

       ´ëÏ…r$ Ýë¦Æÿ¬Ë$ 

        70%   80%   90% 

  è̂þÆæÿ KÐ@þÆŠÿ òßýyŠþÞ] 

  ç³Æø„æü “Ô¶ýÐ@þ$ - 12,000 - 

  õÜµÆŠÿÞ™ø Mæü*yìþ¯@þ ÝùtÆŠÿÞ - 4,000 - 

  ´ë„ìüMæü ^èþÆæÿ KÐ@þÆæÿ òßýyŠþÞ] 

  Ô¶ýMìü¢ (60% íÜ¦Ææÿ…, 40% ^èþÆæÿ…) - 20,000 - 

  Ð@þ$ÆæÿÐ@þ$Ã™èþ$¢Ë$ °ÆæÿÓçßý×ý  

  (60 % íÜ¦Ææÿ…, 40% è̂þÆæÿ…)  2,000

 - 

  íÜ¦Ææÿ KÐ@þÆŠÿ òßýyŠþÞ]   

  ™èþÆæÿVæü$§æþË - 11,000 - 

  ÁÐ@þ* - 3,000 - 

  i™éË$ - 10,000 - 

  Ððþ¬™èþ¢… KÐ@þÆŠÿ òßýyŠþÞ  62,000  

  A…^èþ¯é ÐóþíÜ¯@þ {ç³™èþÅ„æü ç³°Væü…rË$  1,24,000  

 

 



Q7) From the information given below, calculate : 

i) Efficiency variance. 

ii) Volume variance. 

iii) Capacity variance. 

iv) Calendar variance. 

   Budget   Actual 

  No. of working days   20   22 

  Standard man hours per day  4,000  4,200 

  Total output in Units 80,000  1,10,880 

  Standard overhead rate per man hour          10 paise    10 paise    

D “Mìü…¨ çÜÐ@þ*^éÆæÿÐ@þ¬ ¯@þ$…yìþ ÌñýMìüP… è̂þ…yìþ. 

i) ç³°™èþ¯@þç³# Ñ^èþÆæÿ×ýÐ@þ¬. 
ii) ç³ÇÐ@þ*×ý Ñ^èþÆæÿ×ýÐ@þ¬. 
iii) ÝëÐ@þ$Ææÿ¦Åç³# Ñ è̂þÆæÿ×ýÐ@þ¬. 
iv) M>Ìñý…yæþÆŠÿ Ñ è̂þÆæÿ×ýÐ@þ¬. 

  ºyðþjsŒý ÐéçÜ¢Ð@þÐ@þ¬ 

  ç³° ¨¯éË$ 20  22 

  {́ ëÐ@þ*×ìýMæü “Ô¶ýÐ@þ$ Væü…rË$ ÆøkMæü$ 4,000  4,200 

  Ððþ¬™èþ¢Ð@þ¬ E™èþµ†¢ Ä¶ýÊ°rÏÌZ 80,000  1,10,880 

  “Ô>Ñ$Mæü Væü…rMæü$ {́ ëÐ@þ*×ìýMæü KÐ@þÆŠÿ òßýyŠþ Æóÿr$ 10 Oò³çÜË$ 10 Oò³çÜË$ 

 

Q8) Discuss about various kinds of cost reports. 

ÑÑ«§æþ ÆæÿM>Ë M>çÜ$t °Ðóþ¨MæüË Væü$Ç…_ ÑÐ@þÇ…ç³#Ð@þ¬. 

 



 Q9) Explain the need for a cost ledger. Discuss the structure and objectives of factory cost 

  control accounts.   

Ð@þÅÄ¶ý$ BÐ@þÆ>j Äñý¬MæüP AÐ@þÔ¶ýÅMæü™èþ¯@þ$ Ñç³#ÎMæüÇ…^èþ…yìþ. ¸ëÅMæütÈ Ð@þÅÄ¶ý$ °Ä¶ý$…{™èþ×ý AMú…sŒýÞ Äñý¬MæüP 

°Æ>Ã×ýÐ@þ¬¯@þ$, «§óþÅÄ¶ý*Ë¯@þ$ õ³ÆöP¯@þ…yìþ. 
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Section - A 

Answer any four of the following 

(4× 5 = 20) 

 Q1) a) Casual Income 

 Ä¶ý*§æþ–_eMæü B§éÄ¶ý$Ð@þ¬. 

  b) Incidence of tax 

 ç³¯@þ$² ¿ê«§æþÅ™èþ 

  c) Partly exempted incomes 

 ´ë„ìüMæü…V> Ñ$¯@þàÆÿ¬…^èþºyìþ¯@þ B§éÄ¶ý*Ë$. 

  d) Income from profession. 

 Ð@þ–†¢ B§éÄ¶ý$Ð@þ¬. 

  e) Search. 

 ÔZ«§æþ¯@þ 

  f) Hindu undivided family 

 íßý…§æþ* AÑ¿¶ýMæü¢ Mæü$r$…ºÐ@þ¬. 

  g) Refund of tax 

 ç³¯@þ$² Ðéç³çÜ$ 

  h) Revision 

 ç³#¯@þ ] ç³ÇÖË¯@þ 
  

Section – B 

Answer any Two questions 

(2× 10 = 20) 

Q2) How do you determine the residential status of an individual and HUF? 

Ñyìþ Ð@þÅMìü¢ Ð@þ$ÇÄ¶ý¬ íßý…§æþ* AÑ¿¶ýMæü¢ Mæü$r$…ºÐ@þ¬ Äñý¬MæüP °ÐéçÜ {ç³†ç³†¢° H Ñ«§æþÐ@þ¬Væü °Æ>®ÇÝë¢Ææÿ$? 
   

Q3) Describe the incomes fully exempted from income tax under section 10. 



òÜ„æü¯Œþ 10 “Mìü…§æþ B§éÄ¶ý$ç³# ç³¯@þ$² ¯@þ$…yìþ ç³NÇ¢V> Ñ$¯@þàÆÿ¬…^èþºyìþ¯@þ B§éÄ¶ý*Ë¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

Q4) From the following compute, the income of Sri Prakash under the head salary. 

  Basic pay �45,000 p.m; D.A. �22,500 p.m. (Entries for retirement benefit); Annual 

  Bonus 5% of basic pay : Entertainment allowance �6,000 p.m.  

  Employer provides the following benefits 

a) �10,000 is awarded as scholarship for his daughter. 

b) Free refreshment costing �30 per day is served for 300 days in the office. 

c) A rent free accommodation is provided in a city having 10 lakhs as population. Cost 

of furniture provided is �2,10,000. 

d) A small motor car is provided for official purpose. 

e) The employer provides the services of watchman and a cook whose monthly salary 

@ �6,000 p.m. each paid by the employer. 

f) Employer allowed to use computer costing �60,000 for official and personal 

purpose. 
g) Reimbursement of medical expenses spent in a recognized hospital in India 

�90,000. 

h) Employer paid �15,000 for extra work i.e. for undertaking tution to his son. 

Profession tax paid by the assessee is �900 p.m. 

i™éË @̄þ$…yìþ B§éÄ¶ý$Ð@þ¬ A¯óþ ÖÇÛMæü “Mìü…§æþ } {ç³M>‹Ù B§éÄ¶ý*°² D “Mìü…¨ ÑÐ@þÆ>Ë ¯@þ$…yìþ ÌñýMìüP…^èþ…yìþ. 

¯ðþËMæü$ Ð@þÊË i™èþ… �45,000, MæüÆæÿ$Ð@þ# ¿¶ý™èþÅ… ¯ðþËMæü$ �22,500 (ÑÆæÿÐ@þ$×ý ÝûMæüÆ>Å°Mìü i™èþ…ÌZ ¿êVæü…), 

çÜ…Ð@þ™èþÞÇMìü »Z¯@þ‹Ü & Ð@þÊË i™èþ…ÌZ 5%. Ñ¯ø§æþ ¿¶ý™èþÅ… ð̄þËMæü$ � 6,000.  

Ä¶ý$fÐ@þ*° D “Mìü…¨ ÝûMæüÆ>ÅË¯@þ$ HÆæÿµÆæÿ_¯éyæþ$. 

a) A™èþ° Mæü$Ð@þ*Æðÿ¢Mæü$ C_ā @þ Eç³M>Ææÿ Ðóþ™èþ¯@þ… � 10,000. 

b) M>Æ>ÅËÄ¶ý$…ÌZ 300 ÆøkË$Mìü, ÆøkMìü � 30 ^öç³š @̄þ E_™èþ Eç³àÆæÿ ÝûMæüÆæÿÅ… HÆ>µr$ ^óþíÜ¯éÆæÿ$. 
c) 10 Ë„æüË f¯é¿êVæüË ¯@þVæüÆæÿ…ÌZ E_™èþ Væü–çßý Ð@þçÜ†° MæüÍµ…^éyæþ$. A…§æþ$ÌZ HÆ>µr$ ó̂þíÜ¯@þ çœÇ²̂ èþÆŠÿ 

ÑË$Ð@þ � 2,10,000. 
d) M>Æ>ÅËÄ¶ý$… {ç³Äñý*f¯éË °Ñ$™èþ¢… JMæü _¯@þ² M>Ææÿ$ HÆ>µr$ ^óþÔ>yæþ$. 

e) Ä¶ý$fÐ@þ*° M>ç³Ìê§éÆæÿ$° Ð@þ$ÇÄ¶ý¬ Ð@þ…r Ð@þ$°íÙ° JMöPMæüPÇMìü ¯ðþËMæü$ �6,000 ^öç³š¯@þ 
MæüÍµ…^éyæþ$. 

f) M>Æ>ÅËÄ¶ý$… Ð@þ$ÇÄ¶ý¬ Ð@þÅMìü¢Væü™èþ {ç³Äñý*f¯éË °Ñ$™èþ¢… �60,000 ÑË$Ð@þVæüË Mæü…ç³NÅrÆŠÿ 
çÜÐ@þ$Mæü*Çā éyæþ$. 

g) ¿êÆæÿ™èþ§óþÔ¶ý…ÌZ Væü$Ç¢…ç³# ´÷…¨¯@þ OÐðþ§æþÅÔ>ËÌZ � 90,000 OÐðþ§æþÅ… MøçÜ… QÆæÿ$â óþíÜ¯éyæþ$. B Ððþ¬™é¢°² 
†ÇW Ðéç³‹Ü ´÷…§æþ$™éyæþ$. 



h) A§æþ¯@þç³# ç³° ó̂þíÜ¯@þ…§æþ$Mæü$ (Ä¶ý$fÐ@þ*° Mæü$Ð@þ*Ææÿ$°Mìü »Z«§æþ¯@þMæü$) Ä¶ý$fÐ@þ*° � 15,000 

^ðþÍÏ…^éyæþ$. AòÜïÜÞ ^ðþÍÏ…_¯@þ Ð@þ–†¢ ç³¯@þ$² ¯ðþËMæü$ � 900. 
 

 

 

 

Q5) Mr. Praveen’s income and other particulars are as under. 

a) Income from agriculture � 6,00,000 

b) Income from business � 1,70,000 

c) Short term capital gains � 80,000 

d) Income from other sources � 1,62,000 

The deductions allowed from Gross Total Income u/s 80. 

a) � 10,000 u/s 80 D 

b) � 22,000 u/s 80 L 

c) � 40,000 u/s 80 E 

d) � 70,000 u/s 80 DD 

He deposited � 1,00,000 in P.P.F and premium paid on life policy � 8,000 on a policy 

amount of � 1,00,000. Advance tax paid � 23,000 and tax deducted at source on income 

from other sources � 1,500 

  Compute total income and tax liability for the current assessment year. 

{ç³Ò×Šý Äñý¬MæüP B§éÄ¶ý$ ÑÐ@þÆ>Ë$ Ð@þ$ÇÄ¶ý¬ C™èþÆæÿ ÑÐ@þÆ>Ë$ “Mìü…§æþ CÐ@þÓºyìþ¯@þÑ. Ðé° ¯@þ$…yìþ {ç³çÜ$¢™èþ ç³¯@þ$² 

°Æ>®Ææÿ×ý çÜ…Ð@þ™èþÞÆ>°Mìü B™èþ° Äñý¬MæüP Ððþ¬™èþ¢… B§éÄ¶ý*°² Ð@þ$ÇÄ¶ý¬ ç³¯@þ$² ¿ê«§æþÅ™èþ¯@þ$ ÌñýMìüP…^èþ…yìþ. 

a) Ð@þÅÐ@þÝëÄ¶ý$ B§éÄ¶ý$Ð@þ¬ � 6,00,000 

b) ÐéÅ´ëÆæÿ… ¯@þ$…yìþ B§éÄ¶ý$Ð@þ¬ � 1,70,000 

c) çÜÓËµM>ÍMæü Ð@þÊË«§æþ¯@þ Ìê¿¶ýÐ@þ¬ � 80,000 

d) C™èþÆæÿ Ð@þ¯@þÆæÿ$Ë ¯@þ$…yìþ B§éÄ¶ý$… � 1,62,000 
òÜ„æü¯Œþ 80 “Mìü…§æþ çÜ*¦Ë Ððþ¬™èþ¢… B§éÄ¶ý$… ¯@þ$…yìþ A¯@þ$Ð@þ$†… ó̂þ ™èþWY…ç³#Ë$ 

a) òÜ„æü¯Œþ 80 D “Mìü…§æþ � 10,000 

b) òÜ„æü¯Œþ 80 L “Mìü…§æþ � 22,000 

c) òÜ„æü¯Œþ 80 E “Mìü…§æþ � 40,000 

d) òÜ„æü¯Œþ 80 DD “Mìü…§æþ � 70,000 



A™èþ¯@þ$ ç³¼ÏMŠü {́ ëÑyðþ…sŒý çœ…yŠþÌZ � 1,00,000 yìþ´ëhsŒý ^óþÔ>yæþ$ Ð@þ$ÇÄ¶ý¬ A™èþ¯@þ$ � 1,00,000  ÑË$Ð@þ 

ó̂þõÜ iÑ™èþ ÁÐ@þ* ´ëËïÜ Oò³ � 8,000 {ï³Ñ$Ä¶ý$… “Mìü…§æþ ð̂þÍÏ…^éyæþ$. A™èþ¯@þ$ Ð@þ¬…§æþ$V> ^ðþÍÏ…_¯@þ ç³¯@þ$² � 
23,000 Ð@þ$ÇÄ¶ý¬ C™èþÆæÿ Ð@þ*Æ>YË §éÓÆ> Ð@þ_ā @þ B§éÄ¶ý$… Ò$§æþ Ð@þÊËÐ@þ¬ ¯@þ$…yìþ ^óþÄ¶ý$ºyìþ¯@þ ç³¯@þ$² 

™èþWY…ç³#. � 1,500 
 

Section – C 

Answer any Two questions. 

 (2× 15 = 30) 

Q6) Explain in detail the powers of Income Tax authorities. 

B§éÄ¶ý$ç³# ç³¯@þ$² A«̈ M>Ææÿ$Ë Äñý¬MæüP A«̈ M>Æ>Ë¯@þ$ Ñç³#ËÐ@þ¬V> ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 

 

Q7) The following particulars have been provided by Mr. Suresh in the capacity of Karta of 

  a Hindu undivided family. 

a) Profit from family’s business � 2,00,000 after charging an amount of � 30,000 

given as salary to Karta’s brother who has been actively participating in the 

business of the family. 

b) Salary income of Karta’s another brother who is a manager in a cooperative bank 

�41,000 

c) Directors fee received by Karta � 50,000 

d) Dividend � 4,000(gross) 

e) Longterm capital gain from transfer of a building � 20,000 

f) Longterm capital gain from transfer of investment � 40,000 (acquired in March 

2000) 

g) Donation to a collage which is an approved institution � 40,000 

h) Profit from an unregistered firm � 40,000 

i) Rental value of a house property let � 12,000, municipal taxes paid in respect of 

house � 1,200. Compute total income of family for current assessment year. 

“Mìü…¨ ÑÐ@þÆ>Ë$ } çÜ$Æóÿ‹ÙMæü$ çÜ…º…«̈ …_¯@þÑ, A™èþyæþ$ íßý…§æþ* AÑ¿¶ýMæü¢ Mæü$r$…ºÐ@þ¬¯@þMæü$ MæüÆæÿ¢. 

a) MæüÆæÿ¢ Äñý¬MæüP Ýù§æþÆæÿ$°Mìü ^ðþÍÏ…_¯@þ i™èþ… � 30,000. C¨ A™èþ¯@þ$ ÐéÅ´ëÆæÿ…ÌZ E™éÞçßý…V> 

ç³°^óþÄ¶ý¬r Ð@þË¯@þ ´÷…§ðþ¯@þ$. ©° ™èþÆ>Ó™èþ Mæü$r$…º ÐéÅ´ëÆæÿ… @̄þ$…yìþ ´÷…¨¯@þ Ìê¿¶ý… � 2,00,000 

b) MæüÆæÿ¢ Äñý¬MæüP Ð@þ$ÆøMæü Ýù§æþÆæÿ$yìþ i™èþ… ¯@þ$…yìþ B§éÄ¶ý$… � 41,000 A™èþyæþ$ Mø Bç³ÆóÿsìýÐŒþ »êÅ…Mæü$ÌZ 
Ðóþ$¯óþfÆæÿ$. 



c) MæüÆæÿ¢Mæü$ Ð@þ_ā @þ OyðþÆðÿMæütÆæÿ$ ïœk � 50,000 

d) yìþÑyðþ…yæþ$ � 4,000 (çÜ*¦Ë…) 

e) ©Æ>ƒM>ÍMæü Ð@þÊË«§æþ¯@þ Ìê¿¶ý… “Mìü…§æþ ¿¶ýÐ@þ¯@þ… º¨Î � 20,000 

f) ©ÆæÿYM>ÍMæü Ð@þÊË«§æþ¯@þ Ìê¿¶ý… “Mìü…§æþ ò³r$tºyæþ$Ë$ º¨Î � 40,000 (C¨ Ð@þ*Ça 2000ÌZ fÇW¯@þ¨) 

g) Væü$Ç¢…ç³# ´÷…¨¯@þ çÜ…çÜ® Äñý¬MæüP M>ÌôýiMìü C_ā @þ ÑÆ>Ô¶ý… � 40,000 

h) ÇhçÙtÆŠÿ M>° çÜ…çÜ¦ ¯@þ$…yìþ ´÷…¨¯@þ Ìê¿¶ý… � 40,000 

i) Væü–àíÜ¦ ¯@þ$…yìþ B§éÄ¶ý$… � 12,000 §é° ç³#Ææÿ´ëËMæü ç³¯@þ$²Ë$ ^ðþÍÏ…ç³# � 1,200 

Oò³ ÑÐ@þÆ>Ë B«§éÆæÿ…V> {ç³çÜ$¢™èþ ç³¯@þ$² °Æ>®Ææÿ×ý çÜ…Ð@þ™èþÞÆ>°Mìü Mæü$r$…º B§éÄ¶ý*°² Væü×ìý…^èþ…yìþ. 

 

Q8) Bring out the provisions relating to tax deduction at source. 
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Q9) Describe the penalties and  prosecutions lived under the Income Tax Act. 
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